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SN OHEEDD
33 Mol & Mt =72 55 Fat
cHPls BHAID MRS 2 (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
03 A2 19,200 10,000 9,200
tugt=EdE 23| 19,200
301 LBtE2NS 27,000 27,000
14 J|Et2 = 27,000 27,000
FEHZAGIAIE QI (ASED1500, 2HX1D11,000) 27,000
307 212t01& 20,400 20,400 0
06 283 20,400 20,400 0
2025 AIRIQHM & (XHH) 20,400
405 AHAHFSHI 2,500 60,000 A57,500
01 ML =ZFSHI 2,500 60,000 A57,500
Mot ass LES
1,250, 00024 +2CH 2,500
HHEs2sER 28 3,000 3,000
201 Let23| 3,000 3,000 0
01 Al 22| 3,000 3,000
HE=3t BHI 3,000
ll=gel 8% SEgEd NJ(EX) 5,000 5,000 0
= 2,500
< 750
Al 1,750
201 Let23| 5,000 5,000 0
= 2,500
< 750
Al 1,750
01 Al 22| 5,000 5,000 0
Htis etdet==d 5,000
= 2,500
< 750
Al 1,750
Lt SEUESEd FH(EX) 10,000 10,000 0
& 3,000
Al 7,000
201 Let23| 9,000 9,000 0
= 2,700
Al 6,300
03 A= 9,000 9,000 0
Mg Setiss# 9,000
= 2,700
Al 6,300
301 LetE2d= 1,000 1,000 0
& 300
Al 700
11 AAEIXIES 1,000 1,000 0
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33 Mol & Mt =72 55 Fat
Eel: EHAIRl OHNES 23 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
MOl Setiisad 1,000
& 300
Al 700
CoIoHM=5olAl NF(EX) 68,259 84,460 216,201
= 20,478
Al 47,781
201 28t=3| 13,630 13,630 0
= 4,089
Al 9,541
01 At22telH 13,630 13,630 0
HEFHE XEE Ws S AN 13,630
& 4,089
Al 9,541
308 MAIHSOIH 54,629 70,830 216,201
= 16,389
Al 38,240
13 SIS0 HIAS A 54,629 70,830 16,201
GR0t WSAHNHES KB A 54,629
= 16,389
Al 38,240
H==2E otdze|(ExX) 924,084 550,750 373,334
& 277,200
Al 646,884
101 QI124H] 340,750 340,750 0
& 102,200
Al 238,550
04 D222 MHSE+ 340,750 340,750 0
S=0IAARP 0124 340,750
= 102,200
Al 238,550
401 AIZHIZ 20| 583,334 210,000 373,334
= 175,000
Al 408,334
01 Al&H] 583,334 210,000 373,334
UH&EH+=2E S=012AIE(422)
2 2 U= 583,334
& 175,000
Al 408,334
ol & THHUHS(EX) 100,873 90,714 10,159
= 46,309
Al 54,564
201 28t=3d| 20,639 7,000 13,639
= 6,192
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SN OHEEDD
M ol & M =7 52 23t
Pl THoerd fIse0l il (cho): 2421
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Al 1,058,500
401 Al&HIZL 20| 4,234,000 1,800,000 2,434,000
s 2,117,000
= 1,058,500
Al 1,058,500
01 Al&Hl 3,600,000 1,796,000 1,804,000
THHAE XIS HEI(FE) AESAH
2 ZAH| 3,600,000
s 1,800,000
= 900,000
Al 900,000
02 22yl 630,000 0 630,000
oK EXNSEHU(FE) 2l 630,000
s 315,000
= 157,500
Al 157,500
03 AIE=0HY| 4,000 4,000 0
THoHI XS HEI(FE) A& 4,000
s 2,000
= 1,000
Al 1,000
Mol EXNSHU(AE)(BX) 2,280,000 1,000,000 1,280,000
s 1,140,000
= 570,000
Al 570,000
401 AlEHIZL 08I 2,280,000 1,000,000 1,280,000
s 1,140,000
= 570,000
Al 570,000
01 Al&H| 1,978,000 843,700 1,134,300
THOHRAE XIS HI(AA) AESAL
2 SAH| 1,978,000
s 989,000
& 494,500
Al 494,500
02 22yl 300,000 150,000 150,000
oK EXSEHU(A4) 2l 300,000
s 150,000
& 75,000
Al 75,000
03 AIE=0HY| 2,000 6,300 24,300
THoHI XIS EEI(AA) AlERHY] 2,000
s 1,000




SN OHEEDD
M ol & M =7 52 23t
Pl THoerd fIse0l il (cho): 2421
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 500
Al 500
Mol EXSHU(WE)(Bx) 2,432,000 1,000,000 1,432,000
s 1,216,000
= 608,000
Al 608,000
401 AlEHIZL 08I 2,432,000 1,000,000 1,432,000
s 1,216,000
& 608,000
Al 608,000
01 AlIEH| 2,130,000 843,700 1,286,300
THSHPIEI KIS H I (D 4) AlLBA
2 SAH| 2,130,000
s 1,065,000
& 532,500
Al 532,500
02 2eldl 300,000 150,000 150,000
oI EXSHU(1d) el 300,000
s 150,000
& 75,000
Al 75,000
03 AIESCHYI 2,000 6,300 24,300
THoHI XIS (RA) A& 2,000
s 1,000
& 500
Al 500
ZEAK SUAS XS FHI(ZE) 100,000 0 100,000
s 50,000
& 25,000
Al 25,000
401 Al&EHIZL2THY| 100,000 0 100,000
s 50,000
& 25,000
Al 25,000
01 AlEH| 99,100 0 99,100
SAAMA SULIEX S (HA1) | 99,100
s 49,550
= 24,775
Al 24,775
03 AIESCHYI 900 0 900
SAAMA SVULAAEHXSHYI(HET)
INE=ESN L] 900
s 450




SN OHEEDD
33 Mol & Mt =7 =35 Zat
CHPl: THLOIE SIsieol 3l (cis] mis)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 225
Al 225
Kol & AHe ol 1,177,970 393,620 784,350
= 18,000
Al 1,159,970
THOH AR Ol & =+ 951,970 245,620 706,350
& 18,000
Al 933,970
EFHEEAME NE(EX) 50,000 50,000 0
307 2I2+0| ™ 50,000 50,000
06 2= 50,000 50,000
Sof2EAME X 50,000
AT Ol 176,200 139,200 37,000
201 Let23| 62,200 65,200 23,000
01 Al 22| 62,200 45,200 17,000
Mol S erEot &oA2al &g 10,000
N S22 A (QHHEX B, HEHXIS) 5,000
THEHM M EZR HIA2RA =& 5,000
MogXl+ XNd & ol &2 Sis 7,200
STAK AHHEH =2 15,000
MAZAL & SFAHE, SHEE S
g XNE HH 3,000
KRIEE HED| |X2el S 17,000
206 M= Hl 20,000 20,000 0
01 MH=H] 20,000 20,000
S==ol THHI =2 Xt 20,000
301 LetE2d= 9,000 9,000
14 J|Et2d= 9,000 9,000
Asdie A8 = 9,000
307 212t01 ™ 15,000 15,000 0
03 RIZIFHMHIE2SHIEX 15,000 15,000 0
A=Yt 23| 15,000
401 AIZHIZ 20| 70,000 30,000 40,000
01 Al2Hl 70,000 30,000 40,000
AOIESS X1 & WAl 50,000
243 Sl x84 20,000
LEMFALE 24 53,590 36,420 17,170
308 AHXIEHHISOIE 45,090 36,420 8,670
13 SIS0 U etE &S AEAI I 45,090 36,420 8,670
LENFAE 2 45,090
403 AXIEHHSAH=Z01E 8,500 0 8,500
02 SIS0 A=2HIAS A 8,500 8,500




SN OHEEDD
S Mol & M o
P THOHAHEE oY & S+ (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| SEHsAE 29 8,500
DIIEEAAE FA2el 20,000 20,000 0
201 et23| 20,000 20,000 0
01 Al 22| 20,000 20,000
RIIBEAAE X2 20,000
NSNS M 2EN2 60,000 0 60,000
= 18,000
Al 42,000
307 212t01 ™ 60,000 0 60,000
& 18,000
Al 42,000
03 IAHMHE2SHIE X 60,000 0 60,000
2025 NHELHE 2l 22 & 29 X2 60,000
& 18,000
Al 42,000
&3 NA Mol AZIHEXIT A 42,180 0 42,180
308 AHXIEHHISOIE 41,180 0 41,180
13 SIS0 HIAS A 41,180 41,180
B2y 28 S 41,180
403 AXIEHHSAH=Z01E 1,000 1,000
02 SIS0 U= A EAI I 1,000 0 1,000
B2y 28 S 1,000
SEA R+7[E HN2UH ~8EH 500,000 0 500,000
401 AIZHIZL S0 500,000 0 500,000
01 Al2Hl 500,000 500,000
LENSUHY =22 500,000
CHe Stit CHEH 50,000 0 50,000
201 Let23| 10,000 0 10,000
01 At22telH] 10,000 0 10,000
SIIMF NS YBtEE 7 (249 <H]) 10,000
405 AHAHFSHI 40,000 40,000
01 ML =ZF SHI 40,000 0 40,000
AENAEFH 7 (243 <HI) 40,000
SCOHHoH o2t 43,000 33,000 10,000
et - 22 2AL|HAH 7= 43,000 33,000 10,000
201 €et23| 43,000 33,000 10,000
01 Al 22| 15,000 10,000 5,000
SOHTHSH ol 2 B2(Al AFIE 2 Al4) 15,000
02 S324H| 28,000 23,000 5,000
SUMHOHUHA IS H It 28,000
A THGH Ol 183,000 115,000 68,000
AHIHOIE OrM - 22| 183,000 115,000 68,000
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SN OHEETD
M g9 2Y
el XSRIUAL AEk 25t (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 1,536
Al 3,586
L5 0igtel JEAE uHl M(EX) 90,000 45,000 45,000
= 27,000
Al 63,000
401 AlEHIZL 08I 90,000 45,000 45,000
& 27,000
Al 63,000
01 AlIEH| 90,000 45,000 45,000
L= pge ZEAIE WA 90,000
& 27,000
Al 63,000
DIUAHBAILEZAI(EX) 80,000 0 80,000
= 24,000
& 16,800
Al 39,200
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& 16,800
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= 24,000
& 16,800
Al 39,200
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& A8
Al 2,212
201 et 3| 3,160 0 3,160
= 948
Al 2,212
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01gt?l HIAlE 2= HIXIEIS 72 3,160
= 948
Al 2,212
22423 XA 375,620 380,900 5,280
& 95,500
Al 280,120
2gold AL K& 8,120 4,400 3,720
201 et | 8,120 4,400 3,720
01 AtR2elt] 8,120 4,400 3,720
22 A OISAYUU RS ZAHH
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SN - FE - SRI(E) - KIRAY - BSS Ol st Gl HIRE2
Al 50,000
=0 Mogo|gAtiy HA B4 12,000
= 6.000
Al 6,000
FNT MO SABIY HA B4 40,000
[ 20,000
Al 20,000
o|ZAYM JIs ASHEX) 33,000 0 33,000
= 16,500
Al 16,500
307 BI2H0| A 13,200 0 13,200
= 6.600
Al 6,600
02 DIZFAANAII B 13,200 0 13,200
OLDIEO| RAAN SHDS 13,200
[ 6,600
Al 6.600
402 QI2FRFR0[ & 19,800 0 19,800
[ 9,900
Al 9,900
02 DIZFRHE A B X (01 ™) 19,800 0 19,800
EHE 2| 2 19,800
= 9,900
Al 9,900
RREEEIPE=ES 1,926,280 2,694,311 A768,031
[ 45,000
Al 1,831,280
S4l L gEAIA 2 1,926,280 2,694,311 AT68,031
= 45,000
Al 1,831,280
CCTV SERHME 29 1,776,280 2,694,311 918,031
101 I24H] 118,680 31,901 86,779
04 JIIHIREXEES 118,680 31,901 86,779
SSTHHE JH2ERNSE B4 118,680
-JlE2s 80, 240 R *32 %240 2! 57,773
-=544 80,2402 *3% x50 12,518
=P 80,2402 x3% 11 2,648
-S| 140,000 %3 * 122 5,040
-S| 95,0002 *3%* 12 3,420
~HEEIM 500,000 *3%*23| 3,000
XY 2 402E 34,281
201 L2 1,277,600 1,265,060 12,540
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01 Al 22| 733,600 660,210 73,390
CCTV SEZNHE 28 222 5,000
AR ¢ 5,000
CCTV SE2MHE Al AZEN F 14,000
dojerdae] e 29 8,500
CCTV SEZAMAME AAY SAl2el 9 350,000
CCTV SE2ZMHE STV A2+ ES 336,000
SHA I A |X2el B9 15,100
02 S3=4H| 544,000 604,850 60,850
CCTV Jtdilet MIIR= 53,500
CCTV SE2NHE HIls 108,000
CCTv Sl 2ldes 362,500
CCTV AIE2&HI =Xl 20,000
401 AIZHIZL S0 380,000 1,135,000 755,000
01 Al&H] 380,000 1,135,000 A755,000
gHE CCTV £X 60,000
SOHE FA4XS CCTV EX 40,000
HS Q1AL St0iet A7 ¥ TAl &X 100,000
w2 St0let A LX) 50,000
S A DH L Al A 50,000
CIEQHITIZIY U SN weolme)
=N 80,000
HHE CCTV &X MF(ZRIEO) 150,000 0 150,000
& 45,000
Al 105,000
401 AIZHIZL S0 150,000 0 150,000
& 45,000
Al 105,000
01 Al2Hl 150,000 0 150,000
XS CCTV £X 100,000
= 30,000
Al 70,000
<clsul X120l H=ECCTV 50,000
= 15,000
Al 35,000
HY=2ZFH| 146,240 149,212 N2,972
=3l 146,240 149,212 AN2,972
JI=23HI 146,240 149,212 A2,972
201 28t=d| 118,720 113,192 5,528
01 At22tel 42,720 42,192 528
& Pt=SH| 33,000
=i 9,720
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S52= £ AA 70,000
AEEHIR ] 6,000
202 04| 20,000 20,000 0
01 2LH0HI 20,000 20,000
=4 oy 20,000
203 =&l 7,520 7,520
03 AIBFAHIR =AY 2,000 2,000 0
AR H R X 2,000
04 ENESEHR=LH 5,520 5,520 0
SRR 460,000 *12& 5,520
Mees 751,488 691,296 60,192
LI HHXI= 751,488 691,296 60,192
M2l dEs 750,000 690,000 60,000
102 J1=8ES 750,000 690,000 60,000
01 JISdES 750,000 690,000 60,000
M=2ells 88 HEs 750,000
SIIE3H HES 1,488 1,296 192
701 JIEtRIHSHES 1,488 1,296 192
02 SVIESEIHIYEES 1,488 1,296 192
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